EANRAROBESIFRT — 2 N—ZABISH—F 201851083188 () 8mIIlB4H

KW T 72 TLXE Y5R3%E [xwlm | lmEmml - |5 @) oo g
[A&4£] 1 7% :1,300,000 @ 2 37&:494,000 @  33%&:325,000  ~ 43#&:195,000 @ 5 7 :156,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. 3 | EBXH . 1-1-1 REE EZE (11E)
1 o | Oy TR # 54.0 ?5_? % 1 fjg) (B) DIBERF— T L
R:xyY—>b—0O— B:TZZ2LX4Y AR 4MX
. FITHIBR . -2 . — NSRS GFn)
5 6| ELYIELY it 3 e 5(63)4 2-2-2 |38.5 9 (4+730) ¥EEE;‘E1’€
R:T7UF—v Bitayz—i5— EBHIS
S= e N EHEZ -5 — HHBEE (MHE)
3l8l19 FZ3>T71> 3 o 5(62')8 55 382 s (4_258) 1333‘2%}1?}
RiVIWN—=F v —L B:HI53> 1) HAT s
— = e B -3 — migEkE— (1)
a7l g | 75¥7un i 3 e 5(71.)0 3-3-4 |38.8 7 (4_158) i
LT RIA Y L—> BD—LFEsy b iute
sl 3| TRTTAYY o3 | AR oo 10-10-9 |37.3] — | 4 (i?;» BAEA (14D)
RV ZRE—3IZ24— B4 HEAS
3 3 ft 3 | BEHRER 57.1 4-42  [38.9| — 8 438 | fEAALZ (1)
6|5/5| T3/ T34 54.0 (172 4o |ELAZ
RFLTw Y/ REx BAO—<UYS BELTHNIT7— L
o= . i3 | EIEH 57.3 7-6-6 |38.2| — 2 460 | SHEE— (1)
71111 NFq4V 54.0 I (+12) (F) J P N3
L:vayrrhrT B I-—) e i
(PN -6 — SERE— (1)
8 4 B30y # o3 | EE 5(73.)9 5-6-6 | 39.1 10 (4:1;) B
R:T7vIs—L B:YYHYHRMI-—X KT 7— L
— REME . -9- . — RS (GRAn)
olglg|vFvH= i 3 B 5(84)7 7-9-10 [ 39.4 6 (4_528) it
R:vavFhrT BILN-Y—> i1k e
= o e BELS . -8 . = migm— (I
ol 7| 3-495/5%3 it 3 e 5g)9 9-8-8 | 39.8 5 (ﬁ?) 2
L:xrinMaO— B:¥xvry hXRU—F 2N EBS
® 1—F—@EBIERL
13—7-—
23—7— |2,6,8,5,4,10,(1,9),7,3
3= —F5— 2,6,8,5,10,(1,4),7,9,3
40 —F— 2,(5,6),8,10,(1,4),7,3,9
[ N5
B 2 160 714K 2-6 1,150 e E 2-6 4,410 JEE 2-6-10 1,800
B B 2 120M 2-10 180 e B 2-6 4,970M EE 2-6-10 12,6004
6 480 6-10 2,370M B & 2-6 3,750M
10 200/ B H 2-6 5,390

ABICOVWTRDTEEERROODE. TR LIV,



